BREI[SEND]- [T oL, oLk, IBE EBRSETILV

[SENBIDHD LB

[F2&. oL

Fo JOH D EBR

[SENS] EBEERHY

[SFENS]EBRZERAL

[SENZ] EBRIRERHY

[SENS]EBRIEERAL

RIERIEHE

30,000FBRL 2L DIHEE
60,0001)

30,000F2ERIL 2L DIBEE
60,000/9)

50,000A2:BRIL 2L DB EE
120,000M9)

50,000F2BFEL > ZILDIHEE
120,000M9)

Bl BEEA0RDEE

30,000M

5 E #6048 £ TH30,000HDH S
BELHVETOT. COBE.TY
E—4—E5lIEBAINT . BX
UK (T RAEREER £ 030,000
AIZ4YFE (504 x 500=25,000
M - 5% =23, 750 TIEZTTLVEHE
Ao

30,000

5 E #6048 £ TH30,000MDH &
BRELHBVETOT, BXILLHE
(S RAR AR S 44 030,000 Z72Y

#F9(504 x 500/=25,000M TlEZ
SWEEA),

50,000

58 #1004 E THY50,000 D #}
SRELLYETOT. COFAE.
MJE—4—Z5| JILERSNT . &
KILWHE [ERIERIHED
50,0002 YETS,

50,000M

8 5 #1004 FE THY50,000M D #}
ERFELLYETOT, B
£ T RIEREEFE D50,000M 7%
YZE$ (504 x 500/1=25,000M Tl&
ZEVERA)

Bl BmEEMN1002DIHE

47,500M
EEE612 LI (X[500M x & E
ERIORERELBYETA Y
E—4—%5| &L T5%EI5]124Y
FTOT, BXILLVEE(X1008
x 500=50,000F9 - 5% = 47,5003
IZAYFEFTCEFE LY2,500MFI5]),

50,000

$EEE6148 LI IX[500M x £ E
EHIOHERELLYET DT,
HRILLVFE (L1004 x 500M
=50,000 Y ET

50,000

HEE 1018 LLRE (L [500M x &
ERIOME[ELLYETH &
BRIEHESLUTICESIANSIL
[FTEERADT, ZOHE T
E—4—2I5| @RI, HX
AUV (T RARREE R & 150,000
MIZ7:YE S (10048 % 500
=50,000 - BIFIE TS LVER
A

50,000

85 #1004 FTHY50,000 D+
RRTELLYFT DT, BXHLE
(450,000 (2% YET

Bl WEEN0BTERF v
R—VEEELI5E

49,500

B EE614 LI IX[500M x &
EHIOHERELRYETA Y
E—4—%|51LLT5%E15]. £iE
BRI vUR—UEERL-ES
[Z5%BI5 1Y EF DT, 5H10%D
EB1ERY, BXILLHEEI(E1104
X 500=55,000M - 10% = 49,500
;;:mu&ﬂﬁﬁ;t}s,sooﬂéﬂ

52,2504

B EE614B LUEIX[500M x BE
ERIOHE[ELLYETN, &
BEREX v OR—VERHELS
AIFEREIBIHYET DT, X
UV 1X1104 x 500/=55,000
M - 5% = 52,2502 YETCER
&Y2,750MEI51),

50,000/

I EE 1014 LIEIE[500/ x
EHIOHEJ/ELRYETHM. Y
E—4—%I5| 1 ELT5%EI5]. £1&
BRIy UR—VEERBLEGEE
1E5%BIB 172U EF DT, 5H10%D
B51EiY, BRILVFEEE1104
x 500=55,000/9 - 10% = 49,500
AEHEINFET A, RIBRIH
SYUTICEBI NN LETEE
HFADT, COHE, FEEEIE
BAINT . BRILVOHEEERIE
REFH £ D50,000M(ZHYET

52,250

#EE 1014 LIBEIE[500M x &
ERIOHEFZELLBYETH, &
BRI vOR—VEERLES
BIE%EIEIHEYFET DT, X
UV 1X1104 X 500=55,000
M - 5% = 52,250 A YETCEE
&Y2,750MEI51),

Bl BEEA1902D5HE

90,2504

$EEE612 LIFE(L[500M x 8
ERIOHERTELLYETA Y
E—4—2I5]1ELT5%EI5112%4Y
FTOT, BXRILLELRIF1904
x 500/9=95,000[ - 5% = 90,2504
ISHYFEFTCEHE LY4.750MEI5)),

95,000

B E6148 LI (3 [500/ x &
EHIOHERELLYET DT,
HXIFE1X1904 x 500
=95,000M 24 Y ET,

90,250

B EE1014 LI (L [600M x #E
EHIOHEFRELLGYETH Y
E—4—%I511&LT5%EI511272Y
FTOT, BXILVEE(T1908
x 500F3=95,000M - 5% = 90,250/
1SYESCER LY4.750MEIE D,

95,000

HEEF 1014 LUE(L 500/ x &
ERIOHERELHYET DT,
HXILEE1X1904 x 500
=95,000M (A4 YET,

Bl EEEN 0B CERFT VY
R—U%RELIHE

135,000/

5 #6142 L% (L [500M x #E
FHHIOHMEHELBYET A Y
E—42—25| 1£LT5%EI5], &1E
BRI vIR—VERBLEIBE
[E5%EIBI=AEYEF DT, &H10%D
BI5|L72Y . BRI R1X3004
x 500f9=150,000/ - 10% =
135,000 2V FE T GREE &Y
15,000 EI51),

142,500

EE 612 LU L[500M x i H
FEHIOHEBRELGYETN. &
BERLXYOR—UEERLIS
BIE5REIGHYFET DT, BX
LU E2 133004 X 500/=150,000
M - 5% = 142,500 24 Y EFGER
#&Y7,500MEI5]),

135,000

$HEE 1012 LIRE (L [500M x # &
EHIOHERELLYETHS Y
E—4—%I5|1ELT5%EI5]. &iE
BRIy UR—VEERRLESES
[E5%BIB 122 YEFT DT, 5H0%D
BB LAY BRI £ (L3004
x 500f4=150,000/9 - 10% =
135,000 IZ%YETGERE LY
15,000/ &I51),

142,500

5 E & 1014 LIBEIX[500M x &
FERIOHEHRELLYETH, &
BERLTYOR—VEERLES

BIE%EIBIHAYETOT, X

$h U 2123004 x 500M=150,000
M - 5% = 142,500 <Y FE T GER

#&Y7,500MEI5]),

fl: 2B LLAIC5 B EIRMEL . 8
HEM102DIHE

60,000

2B DIEEIXEEE 120
& ETH60,000A D &R TE L4
YETH, RIERIEHELTIZE
SIMNBILIFTEFELEANDT. C
DEE. E—4— B3| [LBERS
nT BILWNFE ERASREER
£ M60,000M (7Y FEF (1004 x
5009=50,000/ - 5% =47,500 T
[FSENEEAL)

60,000

2ZEMLUAILDIGE L
£ ETHY60,000 D ¥ &%
YETDOT,. BXILHE
RS2 060,000MZRYET
(10044 x 500=50,000F TIZZ&
WEFA)

100,000

2B UL DI5E (L8 E 200
B FETH100,000M DHEEHRFE LI
YETH, RIERIEFELITIZE

BIMNBILIETEEFHANDT,

DEE. E—4—1BI5[LBERS
N7 BRILVOHE (SHAERIER
£0120,000M 27 YFES (1008 x

500M3=50,000M - 5% =47,000 T

[FTEVVERAL)

100,000

2B 2L DI5E L85 E F200
& FETHY100,000M D& ERTE LA
YETOT, BIXILHEIRIE
{REE4 2D 100,000MI1ZHYES
(10048 x 500/=50,000 TIEZ&
WEEA)

1) 2B LLAIZ5 B BIBEL | 8
EHEMOB/HTERFvIR—
*EHELIZEE

Hl: 2B LLAIZ5 B REIBRMEL | 8
BEHEMN210BDIHE

5l: 2RI BRABAMEL . 8
EHE 2508 TEHEFrIR—Y
EEBLIIGE

60,000/

2BML AL DBEISEEE 121
2 LR (X (500 x S E EH ] DH
SRELLY, [VE—42—FI5| &
LT5%EI5], BEERF v R—
FRELISEE5%EI52AYE
FTOT, #H0%BI51L4Y ., HXIh
LVH£ 151304 x 500/1=65,000
-10% = 58 500 L HINET
M. REFEHEUTIZEE AN
BILEFTEFEFLADT, CODG
BJE—S—E5 - EREF v
R—UBIB|ELITERASNT ., BX
UV (FRIEREEF £ 160,000
AICBYES,

99,750

ZAML LRI OEE X EEE121
2 LA (% [500M x S E B H]IDH
REELLYFTN VE—5—F
Bl1ELTH%EIBICIRYET DT,
HXILEEI1X2104 x 500
=105,000M - 5% = 99,750/ (Z7%:Y)
FPGEE KY5250MFI5]),

112,500

61,7504

2BBL A DOEEIEEE 121
2 LR IX (500 x S E EH]IDH
SRELLGYFITH, FEEHR T
UR—VERELIIGE E5%EI5I
ISEYFET DT, BRILLEE
13045 x 500/=65,000M —5% =
61,750AI<YF T GEE £Y3,250
SEEIDR

105,000

ZAML AL OEE X EE121
2 LR 12 (500 x $EE EH]IDH
SRELHYFETOT, BXIH
£1%2104 x 500=105,000M (73
YET,

118,750

100,000

2B 2L DI5E (8 E 200
& FTHY100,000M D H & EXE LR
YETH, RIERIEFELITIZE
BIMNBILIETEEFHANDT,
DEE E—4— 85| -BH
FroR—VLLITEBASNT . B
FIVHEE ERIERIIHED
100,000 (2% Y F 9 (1304 X 500
F3=65,000/ - 10% =58 500/ Tl&
ZEVEEAL)

100,000

2BRL AL D5 E 1S5 E E201
2 LA (% [500M x S E BRI DH
SHELLGYET A TYE—2—F|
Bl1ELTS%EIBICIRYET DT,
BXHE L2104 x 500M=
105,000 - 10% = 94,500/ &5+
SNFETH, RIEREHRESLUTIC
B MNBIEIETEEHADT.,
COBE, BRI LEASN
T BXILVHEERIERITHE
100,000 (Z%YET

112,500

100,000/

2B 2L DI5E 85 E 200
ZFETH100,000M D EERE LA
YETOT, BXIVHSTRIE
{REE4 £ D 100,000MIZHYES
(13048 x 500M=65,000 TIEZ&E
WEEA)

105,000

AL LRI D5 E 38 E & 201
2 LR (% [500M x EE HH]IDH
SRELLHYFET DT, BXRILLE
(%2104 x 500/=105,000 (73
YET,

118,750

X FRTHRANABYET .

X ATHEE, ERRSHSEEROBERRITEYES,
X IR GREBGLNRLGDSO HEDHEAEBLVTHER-BXLVFETRETNELGYET,



BREI[SEND]- [T oL, oLk, IBE EBRSETILV

SENDIDHD LB

[F2&. oL

fo JOH D EBR

[SENS] EBRIEERHY

2EMLU AL DEEIEEEE 121
2 LABE I [500M x SEEE M DH
RERELLGYFTA ()E—2—F|
5l1&ELT5%EIE|, BEEER T
R—UEEHELIIHE1E5%EI5]12
BYFETOT, 5HO%EIZILAY. &
XLV £ 1X2504 x 500
=125,000 - 10% = 112,500/ (27
YESEH £Y12,500M %5,

[SENS] EBREERAL

ZEARLUAILDOBEIFEEE121

£ LI (2 [500M x EEEHIDH
SRELHYFTH, FEERFv
UR—UEERLIGE EL5%E5]
ITRYET DT, BRILHES(E
25044 X 500/4=125,000/3 - 5% =
118 750 HYETEE LY
6,250MEI51),

[SENZ] EBRIRERHY

2EBL V2 D5 E 385 E F 201

2 LA (500M x S =B D%
SHRELLYFTH. [VE—2—F|
5l1ELTE%EIE|, BEER T
R—U%EELI5E1E5%E15]12
BYFTOT, FHO%EIBILEY. &
LU VEE (E2504 x 500
=125,000M9 - 10% = 112,500 2%
YFESGEH LY12,500EI51),

[SENZ] EBREEERAL
2EAML 2L Di5E 185 E F201
£ LI (X [500M x B ] DR
SHRELLYFTH, RIBER T v
UR—UERIELI 5 S 135%315]
IZBYFET DT, BRILLVEHEE
2504 x 500F3=125,000F3 - 5% =
118,750V E T GEE LY
6,250MEI51),

Bl BEE 6502 D5E

276,250/

B E5014 LIBEIE, KAYEIS
[#](10%0FF)&73Y M) E—4—
E51 1£LT5%EIE], FH15%EI51&
HTYET DT, BXILLFE(E650
£, x 500/9=325,000F9 - 15% =
276,250 7Y FEFCEE LY
48,7501 151),

292,500

R EE50148 LIEIX, KAYEIS|
[#](10%OFF)ERYET DT, BX
LUV £ 156504 x 500/=325,000
M - 10% = 292,500 <2 YE T GE
# k132,500 FI31),

276,250

$HEEH5014 LIEIE, KAYZIE
[#8](10%0FF)&Y T E—4—
EI511ELTE%EIE], AH15%EI51&
BYFET DT, BZILLHE(L650
4 x 500/4=325,000F9 - 15% =
276,250 [CRYFESGRE LY
48,7501 &3 1),

292,500/

B E5014 LIEIE, KAYEIS|
[#](10%OFF)EAYET DT, $X
U H 156504 x 500/1=325,000
M - 10% = 292,500 YETGE
# k132,500 EI51),

Bl BEEABORZDHE

300,000

EEETO1E LIBEIE, KAYEIS
[#71(20%0FF)E72Y M) E—5—
E51 1£LT5%EIE], 5t25%BI51&
BTYET DT, BXILLFE(E800
4 % 500/9=400,000F - 15% =
300,000 %Y ETGEF &Y
100,000 I3 1),

320,000

EEET018 LIEIX, KAYEIS|
[#71(20%0FF)ERYET DT, BX
L 21580048 x 5001=400,000
- 20% =320,000M <72 YETCGER
&£1J80,000MZI51),

300,000

HEETO1E LIS (L. KAYEIS
[#)(20%0FF)&75Y 1) E—5—
E51 1ELTH%EIE], #t25%FI51&
BTYFEST DT, HILLHE(E800
4 x 500F3=400,000F9 - 15% =
300,000 ZAYFEFTCEE LY
100,000 151,

320,000/

EHEETOIRLIEIE, KAYEIS
[#7](20%0FF)EAYET DT, $X
U £1580045 x 500F3=400,000
- 20% =320,000 [ZHEYE T GER
&£1J80,000MEIZ1),

Bl BEEN1,1008DHE

357,500

B E1,0018 LIRS, KAYEIS]
[#2)(30%OFF)&AY | ) E—4—
25| 1L LT5%EI5]. 5H35%EI51&
BYET DT, BXILLELE(E
1,1004 x 500/=550,000 — 35%
= 357,500 (ZHRYESTGEE &Y
192,500 &I51),

385,000

$EE1,0018 LIEL. KAVEIS]
[#2](30%OFF)EEYET DT, BX
V£ 131,1004 X 500
=550,000/9 - 30% =385,000/9 (<75
YFEFGEHE &Y165000MFI51),

357,500

EEE1,0018 L. KAYEIS
[#2)(30%OFF)&7zY M) E—5—
E15] 1L TH%EI5]. 535%E151&
BYETOT, BXILLHEEIE
1,1004% x 500M=550,000 - 35%
= 357,500 (Y FEFTGERE LY
192,500/ 15 1),

385,000/

HEEE1,0018 LIE(L, KAYEIE
[#2](30%OFF) &Y FET DT, X
U £ 131,1004 x 500/
=550,000M9 - 30% =385,000/9[Z7F
YFEFEH &Y165000MFI51),

X FRTHRANABYET .

X ATHEE, ERRSHSEEROBERRITEYES,
X W ROEEBHRNRLGDO HEDHEAEBLVTHER-BXLVFETRETNELGYET,



